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The Wisdom of Arya Nagarjunaᦤᘏὄ໅ጱฬ్
Course OneᒫӞ᧞: The Eight Invisiblesكᐿӧݢᥠ
Class 1ᒫӞᜓ—Getting to Know Arya Nagarjuna ᦊᦩᦤᘏὄ໅
 
Quiz ൉ᳯ
 
1) What was the one event in his life that defined Arya Nagarjuna, and what is his position in the
Buddhist tradition?
՜ኞ޸ӾጱߺӞӻԪկਧԎ՜ԅᦤᘏὄ໅҅՜֡ࣁරփᕹӾጱ֖ࣈฎՋԍҘ
 
 
 
 
 
2) Give the title of our book in Sanskrit—using simplified English pronunciation—and then give
Choney Lama’s explanation of the meaning of each of the words in the title, along with useful
English cognates.  Please also give the full title in English!
᧗ᕳڊ౯ժྌԡጱ༃෈ݷńńֵአᓌ۸ጱ᝕᧍ݎᶪńńᆐݸᕳڊᮕੰࡶ࠻੒ԡݷӾྯӻ᦯
ጱތԎጱᥴ᯽҅զ݊Өٌ੒ଫጱํአጱ᝕᧍ݶრ᦯̶�᧗Ԟٟڊਠෆጱ᝕෈ԡݷѺ
 
 
 
 
 
 
 
 
3) What is the goal of our study of Arya Nagarjuna’s Wisdom?
౯ժ਍ԟᦤᘏὄ໅̽ฬ్̾ጱፓጱฎՋԍҘ
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The Wisdom of Arya Nagarjuna PFQW�K^
Course One )�N: The Eight Invisibles O%��.
Class 2)/G—Learning the Eight Invisibles#HO%��.
Quiz E7
1) Describe briefly the three visions which Choney Lama had which are particularly relevant to
our own study of Arya Nagarjuna’s Wisdom, and explain the importance of them.
L��_U��`TaS���#HPFQWdK^e�A,03��
J�f<BZ�
��4�1c
 
 
 
 
 
2) In Wisdom, we are examining many different proofs that things are empty.  How do the
attitudes of a person who is a bodhisattva, and a person who is not a bodhisattva, differ about
these proofs?  Why do they differ?
�dK^e�f��[?����+�3* ;�>�P(cY��-P(��+2"f
�	�b]���I8�6&�f�M�	��b]���I8�6&�g�C���
+g
 
 
 
 
 
 
 
 
3) What has the idea of “peace” got to do with these Eight Invisibles?  Your answer should be
two, and refer to a popular emptiness example!
�*“�=”�	�9f�O%��.@$!�g5EX'%RVf�
D�:��>1\
�!
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The Wisdom of Arya Nagarjuna YH\b�Rh
Course One*�S: The Eight InvisiblesU$��2
Class 3*�K—The Four Choices=	>W
Quiz TV
 
1o  What are three reasons for making all these “examinations” of other people’s viewpoints,

and what is one thing which is not such a reason?
#�1�5���Q�� �gB���J�	80q ����%#�80q

 
 
 
 
 
 
 
 
 
 
 
 
2o The very famous second verse of Wisdom focuses on how things first start.  State the four

options that are given, and then give the astounding traditional name of this proof of
emptiness, explaining the name’s deeper meaning.
�mRhn�L�p*3	kjN@�.p�ci-�;�&E�]�?�lf`!
��=	>Zp"�!��	Y)A4�a�d[�CXP.p<De�	.O�I
_+Ml

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
3o What are two problems we would see, if things started from themselves?
&(�;
�-��,/p��
��'	69� �q
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The Wisdom of Arya Nagarjuna eQip�^t
Course One: The Eight Invisibles 0�`}b(��7
Class 4—The Four Kinds of Conditions 0EW}E(!o
Quiz ac
 
1) What are the two general types of negative things recognized in Buddhism?  What is the
general description of each, and an example of each?  Which of these two categories does
emptiness itself belong to?  Why is it useful to know which of the two it is?
rU8X�,gm4�$C�&��-�g�@FKq�&�|DRl�s�H9�P2
�,g��S�g��&��)%P2S�g
�]d�
 
 
 
 
 
 
 
 
 
 
 
 
2) Why is there an ancient argument over saying, “Things don’t come from themselves, or from
both themselves and others; or from no cause at all—nor do they come from other things, at least
from their own side.”
�&��	f.�vY���|��$C�
�2"��#|TQ�
�2"��#�;"
�,Q~T�
�2��VL?5——"���
�2;"�$C|Z>:"��#�G
*_y�
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
3) What is the basic problem—which Nagarjuna brings up in his fourth verse—with thinking that
a seed could cause a tree, in the way that we normally think it does?
�	h1<A——ip�I�;0E	xw�O��——6 ����u(���k��
np|  �@F��Jz(�{
+L'�/\|�	h1<A�&��
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The Wisdom of Arya Nagarjuna �n���~ 
Course One?��: The Eight Invisibles¬�4��M
Class 5?5q—Canceling Four Definitions¬l�e4I�
Quiz ��
 
1) With all the four kinds of conditions, Arya Nagarjuna has a problem, for example, with saying
“The tree is growing from the tree seed,” or “The awareness of blue is growing from the blue, or
the eye.”  Explain what he is referring to when he says, “As the result approaches growing, the
cause approaches ending—these are simultaneous.  And the completion of the growth of the
result and the completion of the stopping of the cause are also simultaneous.”
�
G	�e4J�«���gm!���W]«P:�«“��R��4 �F!�
�”«on�“%�X�<��y���A�X«onU�¥”K,�«“r�_;�y�«
[J�N_�——
L�B�#��¥9�_;y��Q($[J���Q(��B�V
>�¥“ Th�,u��1�®
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2) Someone responds to this train of thought by saying, “Why talk so much, Arya Nagarjuna?
 We know that when we see an apple, there must be an eyeball working as a cause there to help
create this perception.  When we see the result, we know the cause must have been causing the
result to grow.”  How does Nagarjuna counter their argument?
	
%
�tY�|c�«§�n��«�1��
��^®��70K�������
;�«&�I	�*UxC���[J�&.z����
�37¥K����_;�«
��70�I�[J���_;�y�¥¨���g�:i|¢,��}-��
 
 
 
 
 
 
 



 
 
 
 
 
 
3) Now, having denied the four kinds of conditions (that have their own nature) as a group, Arya
Nagarjuna turns to denying them individually, one by one.  He goes in the same order that he first
presented them, in a previous verse—which means that he starts with a “causal condition”;
basically, anything that has a result.  What problem does the Arya point out with this definition
of a causal condition: “Anything that has a result”?
�n��E=R{S��s�e4[J©	,���Oª«2�,`9��d��?«�
s,��¥,�+,?�6�¡,���B5���V>�«�8D��¤£�¦¦u�
�«,vR§�#J�¨'f­�@9�«��pi	_;�/b¥\��#J��
�I
�§pi	_;�/b¨«���gu!�1�W]®
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